LOSUNG zu bsp-5543-3/VYUW

Arbeitsblatt

Kostenlos auf dw-aufgaben.de

Aufgaben-Quickname: 5543

Aufgabe 1

Berechne.

a) 0,59 :5,9 =0,1
d) 0,78 : 9,75 =0
0) 0,28 :2 = 0,14
i) 0,66:2 = 0,33

Aufgabe 2

Berechne.

a) 2638847433.6 :
b) 47341465626 :
¢) 4046288035.5 :
d) 8202520828.8 :
¢) 2945542118.4 :
£) 1873027361,7 :

Aufgabe 3

Berechne.

a) 1761924006,9 :
b) 7905280894,4 :
¢) 7122922148 4 -
d) 4770079894.3 :
¢) 7973166020,4 :
£) 29147386382 :

Aufgabe 4

Berechne.

a) 7,435 : 148,7 =

¢) 7.325 : 366,25 = 0,02

)

¢) 4,072 : 407.2 =
6) 5,721 : 5721 =
) 4,632 : 1544 =

Viel Erfolg!

www.dw-aufgaben.de

b) 0,49 : 1,4 = 0,35
08 ¢ 0,78:3,12 =025

560 = 4712227,56
119,28 = 396893575
310 = 13052542,05
388 = 21140517,6
268,8 = 10958118
495,55 = 3779694

195,95 = 8991702
544 = 14531766,35
354,72 = 20080407,5
726,25 = 6568096,24
524.88 = 15190455
236 = 1235058745

0,05 1) 9,519 : 47595 = 0,02
d) 9,104 : 227,6 = 0,04
0,01 £ 6,157:615,7 = 0,01
0,01  h)6,341: 317,05 = 0,02
0,03 ) 6,231:207,7 = 0,03
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¢) 0,49 : 7= 0,07
£) 0,78 : 9,75 = 0,08
n) 0,67:6,7=01 1) 0,56:4=0,14
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